&
Upgrade Kit F

Installation

DJI 04 PRO Compatibility - Value Pack

@ Install 04 Lens Mount
RLEOLELEE

H1.3 LEYURF
H1.3 L-shaped Wrench

O4 TPU%ISLEE L

04TPU Lens Mount L
DJI O4 Air Unit Pro

M2'3 Screw

{ERERAERIM2 3 LIRE R BURF, IBO4RLREREL/RTEE
Lk, WWSRANRLRBRIETBRINEE.

Use the M2*3 flat-head screws and L-shaped wrench from the accessory kit
to attach the O4 lens mount L/R to the lens. Ensure that the screws allow for
adjustable tightness.

M312 Screw

FF—UHNLCNCH, BARIFHIELRAMMANESS,
EFRCNCHL

Remove one side of the CNC head, insert the assembled lens into
the corresponding position, and then reattach the CNC head.

#HLCNC L
Head L

M312 Screw

Install VTX Antenna

TREIERE

FFOAENEEEDRL, ENFAIRRS, FIFRSAIIES, BEMEMANERHILE, LRIRE!

Unscrew the bottom screws of the 04VTX and remove the two antennas. Be cautious of the internal
connecting cables during the removal of the bottom cover to avoid damage!

25 FE, Kipex RENKEENTFASFH, REBEBAXZENRE
#£8-10mm

- ‘9,_/ -~ “
04 GPSEKLZEE T s
04 GPS Antenna Base <

Refer to the image above, insert the IPEX antenna through the pre-cut hole in
the antenna base, with the antenna tube inserted about 8-10mm deep.

@ Install VTX Cooling Module
RERENTHIMER

EWipexXEZREIEES, ERA4T M2*10 82, 551
LEROARFIRLIR o

After reinstalling the dual IPEX antennas, use 4 M2*10 screws
to attach the 04 cooling side panels L/R.

M210 Screw

@

Complete the Combination of VTX and Frame

M2'4 Screw
(20*20mm3Lfiz)
20*20mm Mounting Holes

TBNGPHHES, IEBMEERKEERREIMNIE L, RSB, ERER, UBES.

After inserting the 6P ribbon cable, install the cooling module and antenna mount onto
the frame. Ensure proper cable routing to avoid pinching.

M312 Screw



